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for the questions.

Q. No.1 (atog) carries 1 mark each (@Y JOUT) .o cvserseniniosseniineness 1x4 = 4
Q. No. 2 (a to g) carries 1 mark each (any four)......coc.ccvuuece. 1x4 = 4
Q. No. 3 (a to m) carries 2 marks each (any ten)..........c.ceeo.. 2X10 = 20
Q. No. 4 (a to 1) carries 3 marks eacl (any nine)..........o.cceeeeen... 3x9 = 27
Q. Nos. 5 (a to e) carries 5 marks each (any three)................... ...9%x3 = 15

| Total = 70
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1. Answer any four of the following : 3 1x4=4
Ood [ACPIcA] BIfS5T 2XiF ey T ¢

(@) Which one of the following is an economic factor influencing
the distribution of population ?

PR RIS S (AL S HATD! wiefeoss e
Choose the correct answer :
&% Cesh) e Gsdl &
(i) Climate (SE<-)
(ii) Soil ()
(i) Minerals ({7 #m1<)
(iv) Landforms (ZefiFo)
(b) Which one of the following is a secondary activity ?
fcRe @Ry o gfe?
Choose the correct answer :
wa Gesol R Teq ¢
(i) Paddy cultivation (0Ff®)
(ii) Mining ()
(iii) Chemical based industry (SFAREESS ﬁ::r_r(m,‘)
(iv) Tourism (#F6)

/) Which one of the following is not a tertiary activity ?
e @R ol Jfe T8
Choose the correct answer :
w% Gesco! JIR e ¢
(i) Advocate (&)
(i) Teacher (F%)
(i) Industrial worker (Swmiol )
(iv) Doctor (Tf&S)
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(@)

Which one of the following is a secondary activity ?

i Choose the correct answer :

@ Gehl e sl &

‘ () Farming (FREY)

()
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(i) Manufacturing (Fsfiet <510)
(iij) Hunting (P=iE i)
(iv) Trading (TR F10)

Which. trans-continental railways of the following connects
Halifax city with the Vancouver city ?

e (IR SIETRITEIE @@ (RFETES bRaP (U W bRIT w99
Ferisl FE0R2 '

Choose the correct answer :

w% GGICs! R Cedl &

(i) Trans-Siberian Railway (G-PIREIE @E7i)

(i) Trans-Canadian Railway (-Gl (=17(2)

(i) The Union and Pacific Railway (BT I IS @=eiel)
(iv) The Trans-Australian Railway (GiF-SIEo T SR L)

Which one of the following types of economic activities
dominates in all rural settlements ?

S(El S GeREeS wHd (KA N6 SR0.2

Choose the correct answer !
@z Geeol Jie Ofredr ¢

() Primary (212f)

(i) . Secondary (faSR)

(iii) Tertiary (PORT)

(iv) Quaternary (59dF)
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(g9 As per 2011 Census, the population density (persons per
sqg. km) in India is '

205 B (HAIRRIPRE SEPIR Sl TPikaiid g (e alfe sl ) o'
Choose the correct ans@er s
w5 CeIch! JIfR Ceredl §
W) GiE (S59)
(i) 328 (93W)
(iii) 382 (9vR)
(iv) 390 (9d0)
2. Answer very briefly : (any four) 1x4=4
oS b3t Oea @l ¢ (Rl 5o

(@) Name of the state where Hooghly Industrial Region is located.
2ife] Boll ises A A Al

(b) One mining town of Assam
ST @3 fRfefes T

(c) One administrative city of Assam
SPTE Y3 I bR

(d) One type of Non-Ferrous mineral
Ry S-ETR Eot e ol

(e) Location of Tata Iron and Steel Plant
DENGIECIRIRTERERSRIEIS

(f) Highest amount of sugar producing state of India
e FAEE (51 T Tl L

(g) One National Park of Assam
O g3 JGI Sl
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3. Answer in brief : (any ten) 2x10=20
oy Ges Al ¢ (Rieplean #=251)
(a) Write two major causes of population growth.
Gl g 71 920 SR R
(b) Mention two types of subsistence agriculture.
72 YHIRA (AR PR Srazd | |
(c) Mentioﬁ two types of plantation agriculture.
| 72 eoiea @19 $R S 4|
(d) What are the two main factors affecting mining activities ?
< e doR RE[ T4 g4 e 10! [© 52
(e} Mention two types of animal based industr_iés.
TSR T SRS 72 eFiRa SrulR T F
() Which are the two main factors of population migration ?
GreRGTE edin TR 7o ] 7

(g) Give two reasons of low level Human Development in most of
the Northern States of India.

Toq Oiod TEITIZS SRFIHI0S T T2 CHI [ WA (AR 767
iae wesfia |

(h) Mention the name of two mining towns of India.
SlRed 74 ARTeess ol 7 SrE 1|

() Mention two zaid crops produced in India.
SReTe Al (Rl A G R T A O 54 |

() Name two cropping seasons of India.
Sred 75! R Aed A e |

(k) Name two non-metallic minerals found in Assam,

wre (Al F -4 e s qi fera
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(m)

Mention two Industrial Regions of India.

wieed 75! STl SIeEE A Srael < |

Name two International Airports of India.

SR 70] SwEies [Rae IwaE Al &2

4. Answer the following questions in about 100 words each : (any nine)

IS5V
(@)

(b)

(c)

(d)

3x9=27
il 2rpTEa @lfon ©ed Soobl % fwese il ¢ (Resie Jwor)
Who are considered as literate persons in India ?

SiAos @ e e MiEFe gl o0 9 =12

Discuss the approaches to Human Development.

e e SRy KEe el 4|

Mention the main characteristics of Foot Loose Industries.
56T% R SomieR 32 ReRenR S i |

Write the basic difference between barren land and cultivable
wasteland.

sfoofl Uik RN AfegtE AEe 4 I AT F E

(e)

(9)

(h)

(1)
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Discuss briefly the major causes and effects of depleting water
resources in India.

SRS GERTHT @0 2 (IR T IR S Ol S b el 1 |
Write briefly about the knowledge based industries.

wfefes SR [EE s Bl

Write briefly on the types of industries on the basis of ownership.

e ACIH GO B s S MRS WRE K 53T |

Write about the Hill Area Development Programme in India.

Slaes Al S GaE SR [ T

Write about the Satellite communication system in India.

Slroe Boezg AEl FN @I GIEN T el
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() Discuss about the importance of Rail Transport in India.
(k) Write the main causes and consequences of Air Pollution.
<1 2IEeR 2 PG i e KR
() Write a note on Petrochemical industry of Assam.
R TR Sl 67Re @bl (Bl Rl
5 Answer the following questions : (any three) 5x3=15
woTe fal erEs Sed a8 (Repiee o) ' '
(a) Give the definition and explain the importance of Human
Geography. 3+2=5
e SreliErs K@l el S 2N =g 691 39 |
(b) What do yoﬁ understand by density of population ? Mention
the major factors influencing the distribution of population.
' 2:£8=5
S 9T Al [ e 2 SRR RO SO (AR I3 PR
Tz |
‘() Write about the factors affecting tourism.
oG AR w4l FETTEs [Ee Frl
(d) Explain the functional classification of towns.
o fofee woed ceTiReies il S|
(e) Draw an outline map of India and mark the locations of (.
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following therein :

SlaeREa BIRFT (TYAR G MDY SR F O O O forgirgya
e (M4 8

(i) Digboi (f&t3)

(ii) River Brahmaputra (=174 Tl

(iij) Jamshedpur (S(Z17f9)




